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Is a Possuk necessary - w2 RIp

Overview

We derive' from a ?109 that not only can the father refuse a inon from marrying his
daughter, bur even the daughter can also prevent the 7ino» from marrying her. 27
said that there is no proof from this P05 that by a 7°ax nvT% Xow IWwWIPNIW Mwp, that
both the father and the daughter can be 25¥n, for this p109 is discussing where he
was 1non her M Rk awh X7w. The Ra3 asked if the " was M Rk awh Xow do we
need a 109 that she can be refuse to marry him. N800 explains the question and
the subsequent answer of the X77a.

- ANYA TN2 INYN NN NINMS KY 199X NNT XVIWD AN NN INYN NAN KOV *¥1999
The explanation of the question *v2 X7p is, do we require a 2109 that she does not
become his wife through this 8%2?! It is obvious that she is not his wife, for

even if she does not refuse him, she is not his wife through this x°2 -
- MYN OVY XYY NNV 1%

Since he seduced her not for the sake of marriage! There was never a w1 P wyn,

only a Mt NX*2. MBOIN explains why the question is only if the »nN°d was MW X awH ROW:
= 259 199199 NPAN 129 N> 1227 WITIN 1IMNYN MYIN DVY NNYO ONX NNYYA

If he was 71ns» her nwoR awd, it is understood that the 7109 is informing us of a

novelty that either she or her father can prevent the Pv17°p from being effective even
though he was Pw 7P oW 7non (and there would be a X*wp on oK 17) -
= IINYR YWITIN NN XNYN YaN

But now that 27 is saying that the "0 was M x owh X7w, what novelty is the
7100 teaching us?!

mooIn anticipates (and rejects) a possible solution to his question:
= INIY 1IN HIINY NNN IMNRD NYWTPY NN NI ONY 9INRP 97 NPT 919919 NI*D)

And we cannot say that this is what the o2 means, that if her father intends

to be w7pP» her to that 7no», that the daughter can refuse to marry him against her
father’s wishes; that is what 187 18 is teaching us —

mdoINn responds that this is not so -

! The o°p10 state (in T0-10,05 [D°voWR] NAW) that 18A DX .AWKY W2 7397 ) 72V 2007 WK XY WK 72103 WK 7n9° *3
mM?IN27 1775 2PWw° 703 12 NN AR 87, The words 187 181 teach us that she can also refuse to marry him.
? The term w1 here indicates (as it usually does) that the question is not the way it may seem; that it is obvious that
she can be 1X1n (and not be NWTIPn), but rather the question is that she is not NwTPn even if she is not JRMn!
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- N9 Yya NYTPY 9I199W NVIWAT
For it is obvious that the father can be wTp% her (to that o7, or to anyone for

that matter), even against her will. The s'x 3 question remains; if we are discussing a
mMYOR oW Xow "In°o, what is the P05 teaching us?!

mMooIn continues with the s'%77M3 answer and its explanation:
= MYIN OVUY XOY NIOY 29991 ©2IYD W19 NMDND DI DIUNY 9191 2vN)

And °"2 1" answered; the 705 teaches us that he pays the 2ip like a nion;

meaning that we are really discussing a case where he was N2 R aw® R>w 7npn -
- DD DYYNY YN NAIPNM 297 *RIMAT 1IINYUN 591 199N)

And nevertheless the 709 is teaching us a novelty that even if she refuses to marry

him (but her father agrees to the marriage), nevertheless the 7inon pays the o1p -
- Y PN INDD 79 NN PNIND NMONT DIP 21NN NYNT 9T

For just as the »o» made the payment of 017 dependent of the 1% of the
father (that if the father does not want him to marry his daughter he must pay the

01p), similarly the 105 made the paying of 017 dependent on her 1787 (that if she
does not want to marry him, he must pay the 01p).

moon immediately clarifies:
=19 RWH NOW 12399 D991 130N INTY N7 )N NI

And this 1% of hers, is certainly not effective regarding her not marrying him -
- 5295 79199 NN INYN NANY N¥II NPaNT 1294

For since her father wants that she should be his wife (of the 1no»), she cannot

prevent it -
- N0’ ANN ITIND DIP DIUNY 2NN NN

But rather her nX°n is effective that the 7no» has to pay o1p as if the father was
IR, where he certainly must pay the 01p.

? There is indeed no w17 that she is not married to him (even without 1%°»), the w7n is that he is obligated to pay
her 01p, even if the refusal to marry him is only from her but not from the father (as it would seem from the ?109).

* The rule by a 7inon is that he is obligated to marry the woman whom he was 7inon; however if the father refuses that
he marry his daughter, the 7nan is obligated to pay 0ip. The words X %1 (see footnote # 1) teach us that not only
does he pay 01p if the father does not wish for him to marry her, but even if (the father agrees, but) she does not want
to marry him, he still is required to pay the 01p. The w170 of n1vOIN is (excluding the vwd of the 1" in the following
R 71"7 'on [TIE footnote # 3]) that when the X773 writes fin19n2 01p OPWwn it means that just like by a non he pays
o1p if the father refuses, the same rule applies if the daughter refuses.

> The father (of a 7¥3) has the right to marry his daughter (until she is a n9312) to whomever he pleases, even if his
daughter refuses; she has no say in the matter.

® This is a great w17n that even though the inon marries her (against her wishes), he still is required to pay the o3p.
The simple reading of the 2’05 (in T8-10,23 [2°WdOWH] MNMY) indicate that he pays the 03P only if he does not marry
her, but not if he marries her. See ‘Thinking it over’ # 2.
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mooIn offers an alternate explanation regarding the effectiveness of her 1X»:
- Snnsn) 15 9NN NPDY NAT NDN N3N NPO) "5123 IN

Or we may also say that the difference whether she is JX»» or not is in a case

where he was 7non her and then she became orphaned (her father died, before he

had a chance to marry her off to the finsn [which was his intention]) -
SINYUN XN XY Ta0yY A NI 2N NHYNHT

So now her 1% is (also) effective to prevent that she will not become his wife.

Summary
It is obvious that if the "N was MW X oW R>W that she is not married to him (even

without any 73X°n). The inclusion of her 1\ teaches us that he must pay the 01p
even if he marries her as long as she is j&nn. Alternately, he cannot marry her (and
must pay the 01p) if her father died and she is jX»n.

Thinking it over
1. mpOIN second vwd is that she became a MmN after the "n0."° Why could not
mMooIn say that she was a im0 all along (he was 7inon a N1

2. mpoIn states that if the father wants she should marry him and the girl does not
want, he has to pay the 03P even if he marries her.'> Why cannot the 7ino» say; ‘I
will either pay the 017 (and not marry her) or I will marry her (and not pay the 01p);
How can he be required to do both?!"

7 The 1'% may disagree with the first interpretation (for it is not reasonable that he is required to pay the 037 if he
marries her [see footnote # 6]), or the 1"X agrees with the first bws; however there is a difficulty, for the simple
understanding of the P09 is that her 11%°» is effective regarding not marrying him, however according to the first
vwo, she is required to marry him (it is effective only regarding the 01p). Therefore the 1"X explains that it is possible
that her 1% is effective even regarding the marriage (see 2 MK 1"172 7RI X"WIAN).

¥ See “Thinking it over’ # 1.

? Therefore he will have to pay the 01p [to her] since her 71"» prevents him from marrying her. [It is obvious that she
is not his wife, since the \n°d was M R aw X7w and there is no father to marry her to him 3"v2.]

1% See footnote # 8.

' See x"wm.

2 See footnote # 6.

" See mwn nom.
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